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1. Answer the following as directed : 

~ N~IC<il1~ ~ ~ firo1 : 

IxIO=lO 

(a) In a capitalist economy, the level of 

employment depends on 

(1) lc\'el of aggregate demand 

~N r>l~lfl<f ~ · 8~ 

(ii) level of aggregate supply 

~~C<J,~~ 8~ 

( Tum Over ) 



., .. 

( 2 ) 

N,,nc· \, f cht' ,tbll\',' 

~ ;s ,H -.i::">-s ;.i-~ 

( l ' hoose Ul t' correct op tion ) 
\ tl~ ,~~t,] ~~ ~~ ) 

~'ff't"~:-trt• ctemnnd c.u, be expressed a s 
~ 1.;!-f. ~?v ~~ ~ ~~ 

11) D = 01 TD 2 

(n)Dt ' P.: 

fmJ °'1 < 0 2 

{ll } fl= D1 -D2 

whe.re ('ll'i5 ) D Demand (~) 
D

1 
=Con sumer demand (~~) a nd 

r~ l D2 = Jn \'es tment dem a nd 

(~'il ~ ) 

( Choose the correct op tion ) 

( ~~ f4 .,15 \: .. ~1 m ~ -s~ ) 

L'I \\"hen mone_\· wage rnte is u nch an ged , 
.he slope oi' nggregate supply fu nction is 
--~~ ;..f!' ~~ fi ~'1~c0~>J . ~-in~ 
-~- . ~ ~fi ~ ~ 

40 
(Contin ued) 

(ii) 

(iii) 

(iv) 

( 3 ) 

non-linear 

151 -~ 

curved 

~ 

Any shape 

~C<ISIC-ll ~ 

( Choose the correct option ) 

( -o~ ~<t>i!d,1 ~ ~~ ) 

(d) According to Phillips, the relationship 
between unemployment and the rate of 
change of wage rate is 

22A/40 

AA~ ~ ~ ~ ~ '1M4~~◄ ~ 
~~~~~ 

(i) inverse 

~~ 

(ii) linear 

~ 

(iii) non-linear 
15! -~ 

(iv) both inverse and non-linear 

~~~151-~~ 

( Choose the correct option ) 

( -0~ r1<15$1WI ~ ~~ ) 

(Tum Over ) 



' 4 ' 

f r ) Ph1lh r s rur·H· dctrrnunes 

ll} r ~ l ~ . ~ ~?:◄ 

fr) e mplo_vmNH r.i te 

·~:r < ,( ~ · · 

( ) 1.:nrmplovmNH r.He 

~nn 

(Ill/ :nrlat.on rate 

1:: -..ji'-~ ~ 

/rvJ All of the abO\ e 

~<{~~7 

( Choose the correc l op t.Jo n ) 

~~ _,.~J- d~ ~<>l-3QJ 

{/} What is modified Ph11l1ps cun e? 

'V~Y"! T r '"l ;-rr ~ l 

/qJ What 1s c1ss1gnment problem ;iccordm g 

tu \ fundeiJ? 

:-: ,r'< ;;-:- ~ ~ ·q .. :( ~~ v:..,r ( <:, ' 

(hJ What .s Dornbusch\ 0 1, cr',hnol1ng 
m ,>dc ' :> 

I) o, r:r~ lfH(;;;''JLon,11 fna11<.1 .. d rn .ukr l 
-c;;• ir· ~ !. ... .. (' ~ "" 7 .. / ~ >- ?J· '~r~ 

Wh ,H ,s open ccono mv ) 

.. A/40 
( ( 'm1{11111 , •ti I 

I 5 I 

2. l\11 '1 W( ' I tl,r l1dl11 w 11 11: 

'l!I~~ llf1nr:,w1-c ~ 11 <1 111111 

_.' •' ,- If J 

(uJ l ) 1flr 1f' 11 l• 11 l r lwt wr,· 11 11111,I .1111 1 1,., w, 11,I 

r l< •' lt u 111:•· 1 u i ,, 

..,~t) ' H•l· 1f 1•ll l 1·11 •1"11 1'11 ·1 •II'"• r, ~ll v{,ri !,i•/•1 

<T•<l I I 

(IJ) Wri te lwn Ln11 r,l1luriit 1. 111 111lr111 111,,,,. ,I 

fi11unciul 111 11 1 kd 

l[~~.t1l~ <fl l,1tl1J 4 '.'.lil~ II 'fl;1 \ "!i1TT •I~ •lf11 ,.,.,, , 

(r ) Wl inl 111 ,. (II(' I :; ( (l lll)J(111r11( 1. 11( 

Mu11rldl Fl,·1111 11~·. 1n 11<irJ') 

':J C-0"'1 at l.i~ ~M-t >1 1l1'J l •1l , lr. 1Jl'•I ◄ \"fl' fi-1 (.'l l ◄ I-~ 
r~~., 

(d) (11\IF two 11w111 ~ c,f l'l11llq, 11 , 11 rv1· 1,·1 . , 

l ool of lT1>1101 111 , tlwp1 y 

l!li 11ft .i('-!J<11 \!1~ '1 ,11:-•:, l~hlC I 11'1.-i j l;, I, 1'11"1 11,1 ·1•1 

f<T)'l'ff I 

(<') IJdinc 1111111 111 r.1hk l11111t y ol Mu11rlt · II 

Fk1r11n i~ 11wckl 

~~tllrl Of l./~ -!illl!/<f ~}~jq ,.{J'IJ)' •I ) Jr ·,11 IL1III 1 

3. /\w,wc r :my /0111 o f 1111· foll1Jw111i : 

\:.: vf ◄ l~c -1•k•!I 1,1R1~1<1 't;u1 fo1'1111 · 

(<l} 

J:1A / 40 

\Vll ; 1( i lll' Ill<' f. 11 l , 11 1: w li1 r 11 r : 111 •11 1.l 1dt 1, 

1fl !lit' t, liot I 1 \lll Pl11ll1p :; t 11n r• ,' 

c~jr,1 f41'f1ifl ~'1 ◄ ,r,s,'I ~i~1t1~ 1'1101111 r. 1~1~ 

'1f~'1'-!.•~~ .Pl •1'1 G·llaofl .:i11 ·1 

f 1'11 , 11 ( >111 ·, I 



(bl 

(<') 

' 6 , 

e,."TV'ctt1uon? Menuon 
\.\'h il l , ,_ adoptf\ f' ·r 

of adnpuve ihru hm1t.at1on s 

expectauon 

1!i!l~t ci w ~ ,. ') ~ ~ Sr ., ,,;\ii l5' 

m~fll 

(d) How is the exchange ra le determined m 
a free market? ExpJajn bneny. 

~~~~fm~~'f'§~~, ~ 
~ <R) I 

(e) What are the relative importance of 
aggregate demand a n d aggregate 
supply? 

~ · ~~~~~ 
~~~? 

(/) How can the aggregate supply function 
be derived? 

40 
( Continued) 

ii¼ t C 

4 . 

( 7 , 

-lnswer anv I H , • of thr l,111 \\ in~ 

..:~◄ t"~': .. ~ flf¢4 ,._ ,,. -~ 

(uJ E."pl.un the pur, h.1sm~ p1.1wt" r pant,. 
the,>f")' Di s ... uss 1b :,m1t..it , ,)O.:t 

(1J) E..-q>l.:un Mu nde ll Fk mmg modf', m 
terms of monet.1ry fiscal mLX pohnes 
under ILXt"d .md Oexibk e..xl..'h.m ~e rote 
,,'1 th p~rfet:"t c .:1p1tal m ob tlity 

.,,.,,~ ~~ ~~ ~ ~ ~ ~~ 
~ ~ ~ '{10, (lit~~~ ~ m-.- "" 
~~~~~ I 

(c) How does the Phillips curYe e...xpbm the 
trade off between unemploymen l and 
inflation? Discuss its p ol icy Lmphc:1t1on 

~~ ~ ~~ ~ ~ ~ ,:;-., 
~ ~ ~ ffl ? m :rr,~~ ~~~ .. 

{d) Wlrnt do you me,rn by eITrct1 ,·c <irm.rnd ') 
Whnr ~re it s detem1m .rn ls ·) E.'<pl ,ur 
briefly . 

'Sim ~~ ~~ i~ ~ , ~ ~"11" .. •~~- r~ 
f<t.:01:~~ ~~~ I 

22A/40 ( T'um l 1 r"<'t I 
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hO\\ 

r u m 1:1 1f"t 
\ , H r n1 I l, n r, t 

J \\ 11 h t h ,-. t., If 
and ' (_ tr 

:iUJlph 

l (hr l) 

\t, ntie n note· 
l 

v,; . ( BOP}◄ 

iRll' 

( n\.u t c-1 
l 

U\l(" 

~ ~ ◄ (,_IP ., ~ . 
~ if 

" . . 
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